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QUESTION 1

An administrator is configuring load balancing for a vSphere 6.x deployment. The administrator wants optimal load
distribution, but the network team has established that no changes can be made to the physical network.

What load balancing meets the stated requirements?
A. Route based on Mac hash.

B. Route based on IP hash.

C. Route based on the originating virtual port.

D. Route based on physical virtual port.

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.networking.doc/GUIDA4F1BF4B-8199-45A1-9578-1E4B6B0O8DABO.html

QUESTION 2

What must be enabled to ensure that VM Component Protection (VMCP) works in a High Availability cluster?
A. VMware Tools Virtual Machine Communication Interface (VMCI)

B. Fault Tolerance

C. Atomic Test and Set (ATS)

D. All Paths Down (APD) Timeout

Correct Answer: D

There are two types of datastore accessibility failure:

PDL (Permanent Device Loss) is an unrecoverable loss of accessibility that occurs when a storage device reports the
datastore is no longer accessible by the host. This condition cannot be reverted without powering off virtual machines.

APD (All Paths Down) represents a transient or unknown accessibility loss or any other unidentified delay in /10
processing. This type of accessibility issue is recoverable.

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.avail.doc% 2FGUID-
FO1F7EB8-FF9D-45E2-A093-5F56A788D027.html

QUESTION 3

An administrator receives a report that no real time statistics are available for a virtual machine in the vCenter Server
inventory.

Which two statements indicate likely causes of the problem? (Choose two.)
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A. The virtual machine is powered off.

B. The host containing the virtual machine is disconnected from vCenter Server.

C. There is insufficient real time data to display the information.

D. The vCenter Server service is not running.

Correct Answer: AB

The most likely cause might be that the virtual machine is powered off or the host containing the VM is
disconnected from the vCenter server.

Reference: https://kb.vmware.com/selfservice/microsites/search.do?

language=en_USandcmd=displayKCandexternalld=1003979

QUESTION 4

An administrator deploys vCenter Server using the embedded Platform Services Controller. After testing the deployment
for a couple of months, it is determined that the environment would be better served with an external Platform Services
Controller.

What should the administrator do to meet this new requirement?

A. Deploy a fresh instance of vCenter Server with an external Platform Services Controller.

B. Perform a fresh install of an external Platform Services Controller.

C. Migrate the embedded Platform Services Controller to an external Platform Services Controller.

D. Upgrade the embedded Platform Services Controller to an external Platform Services Controller.

Correct Answer: D

To meet the requirement, upgrade the embedded platform services controller to an external platform services controller

Reference: https://kb.vmware.com/selfservice/microsites/search.do?
language=en_USandcmd=displayKCandexternalld=2113115

QUESTION 5
What is a benefit of using VMware Data Protection (VDP)?

A. Provides support for guest-level backups and restores of Microsoft SQL Servers, Exchange Servers, and Share Point
Servers.

B. Provides support for advanced storage services including replication, encryption, deduplication, and compression.
C. Provides direct access to VDP configuration integrated into the vSphere Client.

D. Reduces disk space consumed by virtual machine data using deduplication.
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Correct Answer: D

VDP reduces disk space consumed by virtual machine data using deduplication. Reference:
https://www.vmware.com/files/pdf/techpaper/Introduction-to-Data-Protection. pdf
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